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1. & AERTEdie Ui TR HeeAT B,
1) ¥ sfem srafaoem (2) IO Gt |
(3) I SEfREE (4) VI TEE F
. was the First Political Association in Maharashtra.
(1) East India Association . (2) Poona Sarvajanik Sabha
(3) Bombay Association (4) Indian National Congress
2. UIERIGL HaE i ) faerdierer qRanien Fen UF o w9 SNILE G CIR G
=,
(1) wme (2) FH @) 1= (4) i
In the earlier period Raobahadur Shembekar had given rupees one lakh to the Pune
University to carry out research on .
(1) Sugar (2) Cotton (3) Jaggery (4) Rice
3. dfed wEET FR-u-fiz feaa w1 dvam e ?
(1) @ fawt v fasre =g
(2) e T fam st TG FoamEE
(3) =T fora g fra =
() TTEr STETHTYE TN F WA
Why was Pandita Ramabai given Kaiser-I-Hind award ?
(1) She accepted Christianity
(2) To appreciate her work for woman education
(3) She gave shelter to famine affected ladies
(4) She started Ramabai Association
4. 7 A 1865 Hed Tauan faame oo dee ®a FO.

(1) =M. e safir fampemes dfeq
(2) Wi, Fd swfor fawrene bfea
(3)  TIITES TS AT ., hd
4) A% *d s7fon g Tvend
Founded the Vidhva Vivaha Uttejak Mandal in 1865.
(1) M.G. Ranade and Vishnushastri Pandit
(2) DK Karve and Vishnushastri Pandit
{3) Gopal Gokhale and D.K. Karve
(4) D.K. Karve and Pandita Ramabai
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5. Y UOHU Heded THIA W =l A e g dond ‘$feen Ivigw siER @
Ty faetsiig A9 1933 A YEielen! S0 woeid 379 ?
(1) . wFm (2) . Foon fueed
(3) TS Tm (4) IE. g

Since 1933, who from the following run the Indian Peasants” Institute at Nidobrolu to
train peasants to become active Workers of the peasant movement ?

(1} T. Prakasam (2) P. Krishna Pillai

(3} N.G. Ranga (4) R.D. Bhardwaj
6. @ YA R faeome de wel’ wee .

(1) ¥ A 1882 (2) g3 @fear 1854

(3) 1904 = foamdie s (4) oL WepS YT 1835

is known as ‘Magna Carta’ of Modern Indian Education.

(1) Hunter Commission 1882 (2) Wood’'s despatch 1854

(3)  University Act 1904 (4) Lord Macaulay’'s proposal 1835
7. T fooueen sReR W AR HeEs ST

(1) Tooered ¥ (2) fooremeE favegumE

(3) ooy femerse () oo fosmsh Trae

. was commonly known as Vishnubuwa Brahmachari.
(1) Vishnushastri Pandit (2) Vishnushastri Chiplunkar
(3) Vishnu Shiravadkar (4) Vishnu Bhikaji Gokhle

8. ‘o’ ‘wa’ it 'aew’ Fon fofedt emea ?

(1) AwER s (2) wrHEg weH
(3) e TR (4) gre T
Who has written - “Naivedya' ‘Kheya’ and ‘Balaka’. ?
(1) Saratchandra Chatterjee (2) Bankimchandra Chatterjee
(3) Rabindranath Tagore (4)  Sunil Gangopadhyay
9, T faardis Axiiamd IvAgE!, TEOUE! RIVG FEaearl IO Fe g ?
(1) He Z=iad Fow (2) TEET HE
() fooum ww (4) Wz AW woa

Which of the following colleges was established before the University of Bombay came
into existance ?

(1) ST. Xavier’s College (2) Elphinstone College

(3} Wilson College {(4) ST. John College

AT THAWS T /SPACE FOR ROUGH WORK
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10. WSSUF! FHIVET TERA T UF, T, femage =i+ et gl ?
(a) TE=Rife =fitm (S framst Aerre =fifm)
(b) Hfags waeH faegin
(€©) =T e sohs 9od o
d) v T gEed

qait Tﬁ‘ﬁ' :
(1) (a) 30T (b) FEa (2) (b) anfin (d) w
(3)  (a) 3 (c) Fori 4) (a), (M), () sf0 ()

Which of the following building were designed by F.W. Stevens ?
(a) Victoria Terminus (Chhatrapati Shivaji Maharaj Terminus)
() Municipal Corporation Building

(c) The Royal Alfred Sailor’s Home

(d) The Headquarters of Western Railway

Answer options :

(1) (a) and (b) only (2) (b)and (d) only

(3) (a) and (c) only 4) (2, (b), (c) and (d)

Z09

11. 31 e e Oime ufEs ategst v B 2

(1) e (2) W HHE FeHAT@H
() wTEH (4) wfeqes @m
Who was the First President of All India Muslim League ?
(1) Barister Jinnah (2) Sir Sayyad Ahmed Khan
(3) Agakhan (4) Salimullah Khan
12. T TvivE FEE HEaEE g,
(1) e g (2) FIRE FSTH
(3) TEEE WA @) foe fR
was executive of Satyashodhak Samaj.
(1) Jotiba Phule (2) Narayanrao Kadalak
(3) Gyanoba Sasane (4) Vitthal Shinde
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13. ‘¥ yew'’ & T S ol ?
(1) ez a0 2o (2) =& YEHHES
(3) TR vt (4) fooEm w3
Who wrote the book ‘Maza Pravas’ ?
(1) Govind Balal Deval (2) Baba Padmanandji
(3) Godse Bhatji (4) Vishnudas Bhave
14. T+t 1904 WL} ‘Iag Rrarst’ ¥ w1 @O
(1) = aEE ) oy o
(3) YsETg TR 4) fadez we
composed the poem ‘Jayatu Shivaji’ in 1904.
(1) Veer Savarkar (2) Lokmanya Tilak
(3) Ravindranath Tagore (4) Bipinchandra Pal
15. 1920 7R ga A} oS TS e T2 giaw whHaE qieS afidvm siomen snmwREet IR
TS ?
(1) = (2) oEmTEINE (3) weA. (4) A e
The first session of the All India Trade Union Congress held in Mumbai in 1920 was
presided over by
(1) S.A. Dange (2) Lala Lajpat Rai (3) V.V. Giri (4) N.M. Joshi
16 . Tav fusr=i=n vwinemre TR AvarEEt As TR giffs T@s ame uftsa s famr

(1) .9 dvEe (2) TR AEER
(3) ST FYER (4) <RI WIgH WEEH

In order to reply the propaganada of religion by the Christian missionaries,
thought we have to print our traditional religious books, hence he published the reserached
edition of Dnyaneshwari. It was the first printed Dnyaneshwari.

(1) T.S. Shejwalkar (2) Veer Savarkar
(3) Balshastri Jambhekar (4) Dadoba Pandurang Tarkhadkar
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TEie aEEE au #oF $ ffem FuA e wim A e 2

A Geds T B

i A Ha¥e RUE M F B

& 3o HERR BN

(1) == |eR wefe=ed (1819-27)

(2) -t HewR

@) ghETR

(4) o e

Name the administrator of East India Company about whom the following sentences are
written ?

He was the Governor of Bombay.

He had Worked as a Resident at Poona.

He was Commissioner in the South.

He Knew strong points and weaknesses of the Marathi speaking people.

As the Resident at Poona he had closely observed the Peshwa administration.
(1) Mount Stuart Elphinstone (1819-27)

(2) Char}es Metcalf

(3) Thomas Munro

(4) Warren Hastings.

18.

3ATT St ez

(1) ST 379 - YEH SEnE

(2) . AR SAEHL - TEE TR

(3) SO | - HeEl HEUE

(4) |W TSI - R e

Find out the odd pair :

(1) Bapuji Ane - Dharasan Satyagraha
(2) Dr. Babasaheb Ambedkar - Mahad Satyagraha

(3) Senapati Bapat - Mulashi Satyagraha

(4) Sane Guruji - Pandharpur Satyagraha
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19. HUST ASTYHE Has 3 g Hot

(1) Hou i (2) owfde i

(3) e e (4) U FEE

The children’s theatre movement in Marathi was started by

(1) Sulbha Deshpande (2) Arvind Deshpande

(3) Jyotsna Mohile (4) Sudha Karmarkar
20, ST A

(2) T 0 Hw

(b) wAR @) S

(c) oTuIEa (i) TR

(d) Taveaa (iv) FIER

qaidt 3w :

(@ (b (9 (9
M @ @ 3@ ()
(2) (v) (i) (@@ (i)
3 @ @) @ ()
4 @) @ (@v) ()
Match the following :

(a) Gurakhi (i) Mumbai
(b) Pratod (ii) Thane

(c) Arunoday (i) Satara
(d) Vishwavritta (iv) Kolhapur
Codes :

@ (b) () (d
1 @& @ @ @)
(2) Gv) (@) @@ @
@) @ @) @ @)

) @ ) (@) (i
21. aeE woer gfasy wvame fagge oot iR g T et .
(1) T e Fiae (2) &AM aTEIEHT
@) TR TR (4) WEHERS
worked for prevention of the Devadasi system with Vitthal Ramaji Shinde
(1) Shivram Janaba Kamble (2) B.R. Ambedkar
(3) M .G. Ranade (4) Shahu Maharaj

AT HIHTHIS! AR /SPACE FOR ROUGH WORK
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22, % onyfrer e s TE AeE o

(1) "R (2) YIS ST

(3) TS (4) e =EE

was the First Marathi Play of Modern Times.

(1} Gopichand (2) Madhavrao Peshwa

(3) Ramarajyaviyog (4) Sita Swayamvar
23, WOREH BN T TegwrRaR ffva Fea S arem w2

(1) AR (2) wmER (3) emy @) @

Which of the following states was annexed by the British under the pretext of

misgovernance ?

(1) Nagpur (2) Satara (3) Awadh (4) Jhansi
24, SviEE! wfed v ‘El wed' TR T F.

(1) TEE T (2) dfear v

(@) HiF w4 (4) i #d

“Batmi Sadan’, the first school for the Visually Challenged was started by :

(1} Ramabai Ranade (2) Pandita Ramabai

(3) D.K. Karve (4) R.D. Karve
25, &S I FIEEe fofest s ?

3 T = wAw, 7.

T F SroarEEt @ FEEE 10,

MR faamdter @i g o= el B

(1)  <reraTd TeRi (2) SIS e

(3) Torlreremer Bear (4) T TS

About whom are the following sentences written ?

At the age of twenty he became M.A,

He went to England to become a barrister.

Lord Curzon was his colleague in Oxford University.

(1) Dadabhai Naoroji (2) Jamshedji Tata
(3) Phirozshah Meheta (4) Pirojsha Godrej
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26. TREIGIE WE WEAS faUY™ 1920 S TWEE _ [T Fo ol
(1) T T (2) TTEYUR T
(B3) R TeaeE (@) T gmez
The was started in 1920s against the Courrupt Mahantas of Gurudwaras.
(1) Kuka Movement (2) Namdhari Movement
(3) Akali Movement (4) Nirankari Movement

27. 1858 WY 3iHME UBfaeed st & @il TgvaTE! S Aven S Jeod.

(a) 7o Y () R
(b) TS TH @) TR
() | (i) I
(d) TIg Wt (iv) @@
it 3T

@ @) () (d

1 @ @ @) @)
(2) @) (@) (iv) ()
(@) @) Gv) @ ()

@ ) @ @) ()

Match the following persons who were sent to Andaman in 1858 with their places of

residence :

(a) Annu Nathu (i) Pandharpur
(by Baban Jumal Khan (i) Nagar

{c) Yadu Bagal (i) Mumbai

{d) Pandu Bhorji {iv) Satara

Answer options :

(@ (b} ()} (d)
M) @ 6@ @) @)
@ @) @) v 6
@) @ v O @
@ v 6 @

ool THTHTETS AT /SPACE FOR ROUGH WORK
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28. WOGHH FIU HfaFH 1200 99 TH T8 TANYE U BOGE &Fa use e ?
(1) = FaE fay (2) THE @R
(3) =HF B FBAR (4) reart T fé

Who from the following purchased a printing press for Satya Shodhak Samaj, by Spending
1200 rupees ?

(1) Maya Karadi Lingu (2) Ramsheth Uravne
(3) Yanku Baloji Kalevar (4) Polsani Rajanna Lingu

29, 1907 WIS WIS WrrETEreAl WREda ¥EW WEW HTH A FI0T S FEHIAON
(1) TH HYEER IR T FFes TS ’’lm
(2) TH FOUSER % I FH@ JIHA fim
(3) W FHUSER TR T =F ESH fRm

4) T HISE T% AHSA frm

In 1907 which of the following flags was hoisted by Smt. Madam Cama at World
Communist Summit ?

(1) Tricolour cloth having stars and a lotus

(2) Tricolour cloth having wheel and a lotus

(3) Tricolour cloth having stars and wheel

(4) Tricolour cloth having a wheel

30. fsdw woorA feraway’ 91 AUet TewEt YiaEy Siaen g 91 TReEn (Faw wome yiaiadie
FHT B ?
(1) W faife 2 o ot
(3) Frdm e TR @) o =g

The Marathi Play ‘Kichakvadh’ was banned by the British Government. To whom did
Kichak represent in this play ?

(1) Sir Valentine Chirol (2) Lord Dalhousie
(3) Brigadier General Dyer (4) Lord Curzon

31, IS THM, Mg que i wuy framh aue T wm e ?

(1) =™ e (2) EFTTE T

(3) iR HeAT 4) wfidfes duz

What were the Bal Samaj, the Bandhav Samaj and the Samartha Shivaji Samaj ?
(1) Gymnasiums (2) Social Organizations

(3) Revolutionary Organizations (4) Religious Organizations

THeAT THIHTAETS AR /SPACE FOR ROUGH WORK
P.T.O.



Z09 12

32, e e,
(a) T TH - 748 @ R
(b) 3T iy i) feesA
() Te-70 fomm fanft s (i) W9
(d) Vi g (iv) IH
Tafdt sy

(3) @) @v) (@) (i)
@) @ @ v @
Match the following :
(@) HS-748 @) Germany
(b)  Allouette Helicopters @) Sweden
() L~ 70 anti-aircraft guns (i) France
(d) Shaktiman trucks (iv) UK
Answer options :

(a) (b} () (d}
1) @ @@ @) [v)
(2 Gv) @@ 3G @
@) @) G@v) @ ()
(4) (i) @ (@v) ()

THeAT HIHTETS W /SPACE FOR ROUGH WORK
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33, USTOUE! Fivea skl fEg Heraaeh Hey g ?
(@) FTA. gl (b) o
(c) HITH I HERS (d) 2. fipsit
Tt 36
(1) (a) 30 (b) Pt 2) (a), (b) S (c) T
(3) (a), (b) VI (d) e 4) (@), (), () o (d)
Who from the following persons were associated with the Hindu Maha Sabha ?
(a) U.N. Mukerji (b) Lal Chand
(c) Maharaja of Kasim Bazar {d) A. Bhimji
Answer options :
(1) (a) and (b) only (2) (a), (b) and (c) only
(3) (a), (b) and (d) only 4) (@) (b), (c) and (d)
34, WA FAT eIl FEd anfin w31 T @it TP | anifn TR S A=W
TSI T T AT WA FHo,
(1) e i (2) SF feaw
(3) SIS eE (4) = FAFET
and M.A. Jinnah tried to bring political unity between the Congress and the
Muslim League by Signing the Lucknow Pact.
(1) Mahatma Gandhi (2) Lokmanya Tilak
(3) Jawaharlal Nehru (4) Swami Shraddhananda
35. fasire st st
(1) R, FIA (2) TR ER TH
(3) fR g g (4) R TR @
Pick out the odd person from the following :
(1) R.M. Sayani {2) Syed Ahmed Khan
(3) Mir Musharaff Hussain (4) Hamid Ali Khan

FHeeAT HATARS T /SPACE FOR ROUGH WORK
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36. YRS Foe foa fa 39 w2t Teoe de fedt (1942) 2

(a) =L(A.) TroEE
(c) THETE GIE
T I

(1) (a) 3 (d) FF
(3)  (b) 37 (d) FH

(by foHen s
(d) <E=RL

(2) (b) 3 () T
4 (@, (b}, () ™ (d)

Who from the following ladies did visit the victims at Chimur (1942) ?

(a) Dr. (Mrs.) Valazkar

(¢} Ramabai Tambe
Answer options :

(1) (a) and (d) only
(3) (b) and (d) only

(b) Vimala Abhyankar
(d) Devaskar

(2} (b) and (c) only
(4) (@) (b), (c) and (d)

37. @ TEmEd foew, qe A8 Wisiar Tevansiet S U] foaien uw e A B, i)

g ofgeR wEdwa §UHEE ' ISE uadl.

(1) gt R S
(3) siwdt sigerEe

In East Godavari District, Madras, a group of women gathered to meet and listen to Gandhi

(2) S geEd e
() Fwd qgesh §

, @ woman attendings jumped into the ‘freedom struggle’.

(1) Shrimati Durgabai Deshmukh

(3) Shrimati Ambujammal

(2) Shrimati Duvvuri Subbamam
(4) Shrimati Muthulakshmi Reddy

38. 1905 9% ‘4 fugw gfaaa’ <t wamo qEretEt Sl Sl ?

(1) T AT
3) fau fe

(2) H©MW IS
(4) T EEH

Who from the following established a “Young Theists Union’ in 1905 ?

{1) R.G. Bhandarkar
(3) V.R. Shinde

(2) M.G. Ranade
(4} G.B. Mhaske

oAl HIMI[E 91 /SPACE FOR ROUGH WORK
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39, TRt wivh e TG IEIER A Gt feedt S,

() I (2) W @) M @)

‘Rani Jhansi’ regiment had got the opportunity to go on the war front at

(1) Mandalay (2) Maimola (3) Shan (4) Bago

40. IS FiovA o7afe Havia [de Tt FwivR/FoEt S/ A /ST SRE ?
(a) T FHiHTA EET IEETe 12 AR 1947 B9 TR B
(b) WSS A ANl REHR IR R fae SR fydwiet @ SaeRr SR

T,
Tt Iy ;
(1) T (a) SR (2) W (b) T IR
(B)  (a) 3fT (b) TR A (4)  (a) MW (b) e Anéra.

Which of the following statement/statements about the Boundry Commission Award
is/are true ?

(a) Report of the Boundry Commission Award was ready by 12th August 1947.

(b) Mountbatten decided to make it public after Independence Day, so that the
responsibility would not fall on the British.

Answer options :

(1) Only (a) is true (2) Only (b)is true

(3) ({(a)and (b) are true (4) (a) and (b) are not true
41, & wRardTe e TH YETeE AR,

1) TEE HHYA wEETe () TS vEEfaEE v

(3) T A FERT 4) T STede ST

is India’s First National Laboratory.
(1) National Research Laboratory  (2) National Physics Laboratory
(3) National Chemical Laboratory (4) National Botanical Laboratory

Heodl HIHMES SN /SPACE FOR ROUGH WORK
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42, et e,
(a) TSTHIET HITEd () TS Fhod GETTE
(b) TER WEFH A (i) T=a T SvarEEr gede Avam FIA e wed
o
(c) TTeR Ty BOET qUWd (i) whdw & iy anfor gu e fird
(d) e Fo7 TES (iv) FE TEET wiow A e feefaramet Sefae
qgidt I

@ (b) () (d)
1) @ @ @ ()
(2) Gv) (@) (@) ()
(@) O (@) @ v
@ (W) Gv) @) (i)
Match the following :
(a) Rajaramshastri Bhagwat (i) Founder of Maratha School
(b) Narhar Balkrishna Joshi  (ij) Karve helped him to come to Bombay for higher
eduction

1

(c) Wranglar Raghunath (i) Was Karve's classmate and a close friend
Purushottam Paranjapye

(d) Gopal Krishna Gokhale (iv) Invited karve to Fergusson college to teach
mathematics

Answer options :

@ () (o (d)
1 O @ @ §v)
(2) G(v) (@) @
@) @ @) @ @)
(4) @ (v} () (i)

43, =Momvis faeq feemie Fd 17 fediot 1942 Ut ‘S T sifere 21 2.

(1) R (2 FT (@) TR (4) TS
‘Jatiya Sarkar’ came into existance on 178 December 1942 at in Midnapur
district of Bengal.

(1) Birbhum (2) Bankura (3) Dinajpur (4) Tamluk

FHeedT HIAMEEt AP /SPACE FOR ROUGH WORK
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44, i iR foem Sogrda T SRl 3 R JgER A9 HIB TTBAT
(1) S (2) W (3) 9™ (4) ==
Vasukaka Joshi and his collaborators could go to to acquire the knowledge of
bomb manufacturing only through the good office of the King of Nepal.
(1) Germany (2) Russia (3) Japan (4) China

45. Hugen fowm T 7E 7ieE e 228 TEE A T Al TEe U9 WisaonTsl saed
WiggwaR faarran @ SHErTE ST o FEEEE! HWA ... T JUE 6 SRR G06e
TET Hier T e o Avifow | weld Fwon fedie ?

(1) .= S (2) st wAEE

(3) R A () HEE T ,

Taking note of the loss of job of 228 girls from the Telephone Department of Mumbai,
when a new machine was introduced, who from the following wrote in Socialist ? ‘In
Capitalist system the capitalists are using science and technology for their benefit ....... the
new machine is a big problem faced by labour movements’.

(1) N.M. Joshi (2) George Furnandis

(3) Comrade Randive (4) Comrade Dange

46, RIS AT HITH FOH FS I ?
(a) N = SR g
(b) 1960 TEHW HAFRET Fea THzfavgraE @M 999 Jae +o.
(c) O A =R Y ufEen g
(d) e oy fesm smdft g faes 2.
(e) HrTem FHoate TRy a1 v yeifad Fet g,

gt 3T :
(1) fez 2 =g
(3) @ g (4) giTHe

Who is described in the following sentences ?

(a) He was a Naga tribal.

(b) In 1960s he was the first Tried to seek the help of China.
(c) He had staved four years in Yunnan.

(d) He was trained by People’s Liberation Army.

() He was deeply impressed by the Cultural Revolution in China.
Answer options :

(1) Phizo (2) Isaak Swu

(3) T. Muivah (4) Thangkul Naga

oA HIMRIS JNT /SPACE FOR ROUGH WORK
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47. 12 S 1853 U qoaTdies waifim forgien et gRd aiffe yften Svam el =mEe
YEIBIT! RISl ITfed e ?
(1) frErR zage 2) & wead
(3) TRER STUTHRT THIL (4) VRN FEERS THAER
The Second Annual Examination of the Native Female Schools in Poona was held on 12th

February 1853. Who from the following was not present at that time at the place of the
examination ?

(1) Brigadiar Trydell (2) Mr. Cockburne
(3) Sirdar Appasahib Dhumdherry (4) Sirdar Abba Sahib Moozoomdar

48. 'WUR Hr’ aftn  AUSHeAEt qREv’ & 3 wrol fodles ?

1) faermsl fausgor @) fawpEmet dfeq

(3) TIaT=S WAL TR (4) T &8 e

Who wrote the articles ‘Marath Mola’ and ‘Marathmolyanchi Puravani’ ?
(1) Vishnushastri Chiplunkar (2) Vishnushastri Pandit

(3) Gopal Ganesh Agarkar (4) Gopal Hari Deshmukh

49, YEGIR! HUE PR FEA MG FERSR HEla ARG YN &t 7

1) & | (2) TAMUF T
(3) s T 4) W AN
Which of the following religious reformist organizations influenced Shahu Maharaj
most ?
(1) Arya Samaj (2) Satyashodhak Samaj
(3) Brahmo Samaj (4) Prarthana Samaj
50. & A S 7 HHeAd Ay A
(1) o= RS ORI 2) frooft s ghem
(3) & wergu AW (4) VIRdra FeIgL WY
Shri N.M. Joshi was President of
(1) Bombay Textile Labour Union (2) Girni Kamgar Union
(3) Hind Majdoor Sabha (4) Bharatiya Mazdoor Sangh

T HIWES AT /SPACE FOR ROUGH WORK
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51. 1953 O = g FeAa YRa-Hifeud 9= giendis Tsiten vaie YRY el
(1) A (2) wRafeen siommier (3) i (@) oA
In 1953, after the death of began the era of friendship between India and
Soviet Union.
(1) Lenin (2) Czar Alexander I (3) Tortsky (4) Stalin
52, Siredl YA
(a) Whum. fuR () o 9dE A
(b) ifaa | (i) TeAE], I HIAH
(c) T Goar (i) 3T, STTATIA THAT T STHSH KA T TS Hiwer
(d) <A (iv) Tg M dadet SeaM sTeedl gufaa @ e IRE
TSI T WA AR
Tatdt 34T
(@) (b) (c) (d}

1 @ @)

() ) @ @) (@v)
(3)

(

—
=
g
——
i
-
—

3) () @ @) @)
4) () () (@) (@)
Match the following :

(a) P.S. Bhinder (i) Senior Police Officer

(b) Ambika Soni (i) President of Youth Congress

(¢) Ruksana Sultana (iii) Socialite - Cum - Social Worker

(d) ]agmohan' (iv) A kev member of a coterie that had sprung up around

Sanjay Gandhi

Answer options :

(@ (b} () (d)

1 O @) @ @)
2 O @ @) (@)
(3 v @) (@) (O
@) v) @ @@ @

oY FIHMETS SN /SPACE FOR ROUGH WORK
P.T.O.
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53. TEIUET S wESH UM WS+ fofedt A 2

(1) T (2) =it (3) ;W (4) T

Which of the following novels was not written by Annabhau Sathe ?

(1) Chitra (2) Bari (3) Vair (4) Ranganga
54. IEINE wE 39 g

(1) FRER (2) R (3) M 4

Aryabandhav Samaj was at .

(1) Kolhapur (2) Nagpur (3) Aundh (4) Pune
55. YA fETa" R FRETEEE! IRaH 981 Yfitw aeadt.

(1) =RIH (2) foaug smaTEw

3) FIET @) frerds

India played a major role in negotiating the Vietnamese withdrawal from

(1) Laos (2) Christmas Islands

(3) Kampuchea (4) Philippines

56. 'gacrs TeawRl May' @ qede Fron fofee e 2

(1) weRd TifaT T (2) forooeen s

(3) e & SInE (4) faoEmeh faTeme

Who wrote the booklet ‘Sukhadayak Rajyaprakarani Nibandha" ?

(1) Mahadeo Govind Ranade (2} Vishnubuva Brahmachari
(3) Gopal Hari Deshmukh (4) Vishnushastri Chiplunkar

57, oET=I GAME! [EIGUS! SISl ER K mEt 2

(1) ¥Fd T&AT HRL (2) TAEE Wg e

(3) FOTS TS FHA (4) o TREe vt

Who from the following was not hanged for Jackson’s murder ?

(1) Anant Lakshman Kanhere (2) Dattatray Pandurang Joshi
(3) Krishnaji Gopal Karve (4) Vinayak Narayan Deshpande

el HETES ST /SPACE FOR ROUGH WORK
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58. YEI® I HIU UM s TR 2

(a) SRR THHE HEESA LIS TCOHNTE o @i T8 gafae &,

(b) F FEE WiEwaie Ui | wEEd .

() AR Aee 9 3 Jafaas qaEer i wn.

it 39 ;
(1) TesEeH 73 2) TEIEEE SR
() YEIRTRTS WEEERE (4) TEugHe™ frewRE

Whose description is given in the following statements ?

(a) Vallabhbhai Patel had put forward his name for the Presidentship of Indian National
Congress.

(b) He was a Congressman from United Province.
(c) He and Jawaharlala Nehru were personal friend.

Answer options :
(1) Purushottamdas Tandon (2) Purushottamdas Thakurdas

(3) Purushottamdas Bhagwandas (4) Purushottamdas Tricumdas

59. TS HoEn AW o AvE wER FiHe sHitdies’ W Fe 2

(1) ol it 2) e

(3) st (4) g Ha

Who from the following leaders had formed the Six-Nation Five Continent Initiative ?
(1) Rajiv Gandhi (2) Indira Gandhi

(3) Gorbachev (4) Nelson Mandela

ol THIHMETS AT /SPACE FOR ROUGH WORK
P.T.O.
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60. 1966 TEY iegl I M TAN HEAT ToRT W HEAN S qisd 9, SEY gHRear
AT TS S, A1 3T AEUETE 0T HIUE g 2
(a) HgEF HEMAT STea SevqaRrE! =Sierd Hed gl
(b) TR HH T 500 O W HYH S TET FE SIearH 59 B
(c) ITHIEIes ST Y FHHAA WEd Tl
(d) 1962 3T 1965 A1 T JHTI THIFT GROMES s fredt TR s et & wedret

STEYFHA Tl
it I |
1) (@), (), (c) ®H (2) (a), (b), (d) &
3 (®) (o) (d) @ (@), (b), (c) = (d)

When Indira Gandhi became Prime Minister in 1966, she felt that relations with the US
and the West needed to be improved. What were the reasons for the improvement
according to her ?

{a) US had better idea of Chinese Militancy.

{b) US had promised help if China attacked again.
{c) There was grove food shortage caused by excessive rainfall.
{d) The Critical economic situation caused by the cumulative effect of two wars in 1962

and 1965 necessited such help.
Answer options :

(1) (a), (b), (c) only 2) (@ (b), (d) only
() (b) (c) (d) only (4) (@) (b), (c) and (d)

61. TWBEIR! FHIVH L HERE=! Wi TALF] B[ es@e o 7

(1) I () FrE @ (4) TR
Which of the following city is Known as Cultural Capital of Maharashtra ?
(1) Mumbai (2) Kolhapur (3) Poona (4) Nagpur

62. WOGUH! Yo S FETe! HIOTl e ST AR ?

(1) YS9-9Rd (2) IHES-HIT

(3) SHES-TIERATS! (4) SHATEI-THI]
Which of the following pair of wind energy centres is correct ?

(1) Pavana - Paras (2) Jamsande - Koyna

(3) Jamsande - Chalkewadi (4) Chalkewadi - Dahanu

HeAT TS 9N /SPACE FOR ROUGH WORK
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63. Sirem o
w9 -1 @Y - 11
() ( &roT)
(a) STEomE 6 TS
®) (@) WG
() =M G
(d) =T (iv) TSI
it 39 :

@ (®) (o (9@
1) @ @ 3@ )
@ (@@ @@ ) (@
@) @ @ @@ @)
@) (v} @ @ @@
Match the following :

Column - I Column - II
(River) ' (Dam)
(a) Arunavati (i) Purmepada
(b} Bori (ii) Borkund
(c) Kan (i) Karvand
(d) Kanoli (iv) Malangav

Answer options :

@ () (0 (9
1) @ @ @ G
@) @) @ Gv) (@)
G @O @) @ @)
4 Gv) @ @ G

FoAT FHHHS A /SPACE FOR ROUGH WORK
P.T.O.
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64. T AEREHE Hecarsl RrEd=1 4} o o1R. wieitets! Fomm aem w9 (FH 39 w5 s
I TET AR ?
(1) FTee, TesTl, Serheer, FHeaen
(2) SehveR, TR, TR, FHear
(3) e, TR, WeR, FaHvat
(4) W, Ao, FoodaT, NaHTR

The following is the list of important peaks in Maharashtra. Which of the following
ascending order i.e (lower to higher height) is correct ?

(1) Salher, Saptashringi, Trambakeshwar, Kalsubai
(2) Trambakeshwar, Saptashringi, Salher, Kalsubai
(3) Kalsubai, Saptashringi, Salher, Trambakeshwar
(4) Saptashringi, Salher, Kalsubai, Trambakeshwar

65. FIFW ¥ed AMES WA € s FIvre faegna 3 ?

(1) e @ gt (3) AT (4) =
In Konkan Railway, Kharepatan Station is in which of the following district ?
(1) Raigad (2) Sindhudurg (3) Ratnagiri (4) Thane

66. WHTIH FIA GSF EIAHT TIH TR ?
(1) I (2) Wi (3) TR (4) It w@EF
Which of the following is metamorphic rock ?
(1) Shale (2) Basalt (3) Marble (4) Sandstone

67. WO FIVRE T TR TIPS T4 Al it R ?

(1) e @l () «mER

(3) FOMER (4) ARy ER

Which of the following river basin is the largest basin in Maharashira ?
(1) Godavari basin (2) Bhima basin

(3) Krishna basin (4) Tapi-Purna basin

ST TS W /SPACE FOR ROUGH WORK
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68, Sirem T
WY -1 WY - 10
(frew) ( YA )
(@) el @) FoE
(b) TFER () R
(c) TI= (i) =9I
d) WS (iv) U
it 3T ;
@ (b) () (d)
(1) Gv) (@) @ @
(2) (@) (@v) @ ()
() Gv) @ @) (@)
@) @ @ @) @
Match the following :
Column - 1 Column - II
(Districts) (Wildlife Sanctuary)
(@) Gadchiroli (i) Phansad
(b) Chandrapur (i) Sagareshwar
(c) Raigad (i) Chaprala
(d) Sangli (iv) Andhari

Answer options :

(@ (b} (c) (d)

1) (v @) @ @
(2) @) @) @ @
@) ) @ @) @
@) @ @@ @
69. WHATIR! VN &Y T Hohedl HISH! ?
(1) 3TeHS AR 2) f=d edvim
3) =@ = 4) T tfww
Who amongst the following developed the concept of cycle of erosion ?
(1) Alfred Wegnar (2) Richard Heartshone
(3) Karl Ritter (4) W.M. Devis

THoedT HWETST W /SPACE FOR ROUGH WORK
P.T.O.
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70. e g T &g TR feema Fowe g o8 ?

(1) o (2) Tawem 3) @S (4) <
Lotemal industrial estate is located in which of the following talukas of Ratnagiri
district ?
(1) Lanja (2) Chiplun (3) Khed (4) Dapoli
71. S @
w9 -1 W - 11
(wdzur fsemTT ) (vfaz)
(a) ETIART 4) Taos wrEw
(b) FIGE-HYATE (i) 9T TES fowm
(c) T (i) wf
(d) =oft (iv) v
e I
@ () () (d)
1) @ @) @ W)
(2) (v) (@ (@) @)
(3) (@) (v) (D) @)
4) (@ G@v) @ ()
Match the following :
Column - I Column - II
(Tourist Place) (Known for)
(a) Saputara (i) Silk Sarees
(p) Nandur - Madhameshwar (ii) Hill station
(c) Yawale (iify Saptashringi
(d) Vani {iv) Flemingo

Answer options :

(@ () () (@
(1) @) @) @ @)
(2) (v) (@) (@) (@)
3) (@) () () ()
4) @) @v) @ (i)

FHoAT RS AT /SPACE FOR ROUGH WORK
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72, SN @
Wy -1 @Y - 11
(7 ) (foe)
(a) TGSHET (i) gIerm
(b) THEIR (i) M
() @R (iti) HER
(d) ReErR (iv) TR
et 3y
@ (b} () (d)
1 @O @@ (v ({5
(2 (v) (@) (D) (i)
(@) @) (v @ ()
(4) () (v) @@ @
Match the following :
Column - 1 Column - II
(Lakes) (Districts)
(a) Bandalsagar (i) Buldhana
(b) Ramsagar (i) Bhandara
(c) Lonar (i) Satara
(d) Shivsagar (iv) Nagpur
Answer options :
@ () ©@ @
M ® @ ) G
(2) (v} @ (@) (i)
@) @) @) () ()
@) @) @ @ 6
73. TRFEET fHTRTg! TA SEEd W,
(1) FRERfF (2) ¥Hoar | (3) FFEUF (4 o AN
Coastal region of Maharashtra is known as coast.
(1) Karwar coast (2) Malbar coast (3) Konkan coast (4) Uttkal coast

oAl R IR /SPACE FOR ROUGH WORK

P.T.O.
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74. 2011 ¥ FOVHTER WIGIGT! I fegma oo Sl SaRar) Faid S e ?
(1) feygt (2) fEm (3) et (4) eEEr

As per 2011 cences which of the following district had the highest percentage of rural
population ?

(1) Sindhudurg (2) Hingoli (3) Gadchiroli () Nandurbar

75. 9T WS e

w|W-1 w|W- 11
(fo=g) (gaua )
(a) T (i T
(b) ITEATTR @ fo=Ee
(c) o (i) sTEIR
(d) foygt (iv) o
o I

@ () (9 (d)
1 @ Qv (@) (@
(2) Gv) & (W) (i)
@) () @ @ @)
(49 () @ @ (i)
Match the following :

Column - I Column - II
(Districts) (Waterfalls)
(a) Satara (i) Randha
(b) Ahmednagar (ii) Chincholi
(c) Thane (i) Amboli
(d) Sindhudurg (iv) Lingmala

Answer options :

(@) (b) () (d)
1 @ @) (D) (i)
(@ Gv) @ () (i)
@) @) @ @ Gv)
(4 @(v) @ @ (i

ol HIFTEE AT /SPACE FOR ROUGH WORK
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76, GUTTS Foeae Uk ¥ TEA0T WIH@UH! ST T HIETeR a6 3718 ?

(1) i (2) et (3) 3w (4)  wirTrar

Pali, headquarter of Sudhagad District is located on the bank of which of the following
river ?

(1) Amba (2) Savitri (3) Ulhas (4) Bhogavati

77. WA SEREA G S FHI TN YeThR 6o aed. i1 9rg %W o,
(a) W @ G Tgwid

®) e () ‘=R s T
(c} o (i) VF

d) =/ (v) ‘g sTRRrEt @
atdt e

(@ (b} () (d)

1) @) @ @ )

(2) @) @v) @ 3@

@ @ @ @) (@

4 @ §v) @ @)

Following erosion features of environmental agenta. Give proper sequence or match it :
(a) Sea waves (i) Inselburg

(b) Glaciers (ii) V' shaped valley

(c} River {iii) Stack

(d) Wind {iv) ‘U shaped valley

Answer options :

@ (b () (9

1) @@ @ @ v
@ @@ @Gv) @@ @
3 @ @) @) (@
4 @ @) @ @
78. HTHAE! QIS WIAGIH! FUT TS T S8 ?
(1) == (2) 3 (3) Tt (4) wfeeh
Dharamtar creek is in the mouth of which of the following river ?
(1) Ulhas (2) Amba (3) Kundalika (4) Savitri

AT HMHS AT /SPACE FOR ROUGH WORK
P.T.O.
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79, Hugd QAGUH! RO TET JHAH Siuen S ?
(1) s (2) g TR (3) IEETE TR @) frm e

In Mumbai warships are constructed in which of the following docks ?
(1) Indira dock (2) Sasoon dock (3) Mazgaon dock (4) Princes dock

80. wfHM () valt TEOUS! RV M2 SNEZAT ?

(1) =9 (2) SRER

(3) VRIS uR (4) GRS "R

Flemingo (Rohit} birds are found in which of the following ghat ?

(1) Thalghat (2) Borghat '

(3) Malshej ghat (4) Khambatki ghat
81, IR WS HIU f3hTon Tarq I s usat ?

(1) HeEE=I (2) A

(3) OrmEe (4) &S

Which of the following place in Maharashtra gets highest rainfall ?

(1) Mahabaleshwar (2) Matheran

(3) Lonavala (4) Amboli

82. GHATIH! T faum/faum wg Ty aiaT o)/ oA ?
(a) 1 I YOI VAT 3T
(by T UTAT fRATER S HiE eel.
() Ui TREIRE TS9ATEe aaaHE 918 .
(dy YRAT TEEE FH S,
it 39T
(1) e (a) 30T (b) SR
(2) T (b) TN
(3) H (a), () M (d) SR
(4) TE ;W
Which of the following statement/statements about EI Nino is/are correct ?
(@) It is warm water current
(b) It appears on Peru coast in June
(c) Surface water temperature goes up in Pacific
(d) India receives deficient rain
Answer options :
(1} Only (a) and (b} are correct
(2) Only (b) is correct
(3) Only (a), (¢) and (d) are correct
(4) All are correct

oAl HIATES ST /SPACE FOR ROUGH WORK
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83. Sire o
WY -1 W - 11
(wdevr fapTor) (T )
(@) THSS I O W G TER
(b) T () et
(c) Tor wfeT (iif) SFEY
(d) sisEeT 2R (iv) fezam
wafdt 3
@ ® © @
© @ @ @
@ 6 @ G (@
® @ 6 G @
@ @ @ @ 6
Match the following :
Column - I Column - I1
(Tourist Centre) (Taluka)
{a) Akloli Hot Springs (i) Mokhade
(b} Suryamal (i} Bhiwandi

(c) Ganesh Mandir (i) Ambarnath
(d) Ambareshwar Mandir (iv) Titwala
Answer options :
@ ) (@ (d
1) Gv) @) @@ @
(2) @ @) @v) (i)
(3 @ @ @) ()
4) @) @@ @) @)

HoAT HWETE ANT /SPACE FOR ROUGH WORK PTO
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84. THGYH! HIVRY ISTELV/ I TS el AR/ 3T ?
(@) & enfrdhet o anfon gt <@
(b) e anfn adfi<h <&

(c) T eIy gt &
(

d) wEEER

it w

(1) % (a) (2) R (b)
(3) W (a) M (b) (4) FH (d)

Which of the following is/are example/s of rift valley ?
(a) East African Valley and Rhine Valley

(b} Narmada and Tapi Valley

(c) Ganga and Yamuna Valley

(d) Brahamaputra Valley

Answer options :

(1) Only (a) (2) Only (b}
(3) Only (a) and (b) (4) Only (d)

85. WIHTS! FNCH 9 TS TIEY FES THG FOIAR 3T 2

(1) w1972 (2) W< 1927

(3) W< 1978 (4) WL 1987

In which of the following year Wildlife Protection Act was passed ?
(1) September 1972 (2) September 1927

(3) September 1978 (4) September 1987

86. UM § uE TN fowmm wEioisl Bom faeena H® ?

1) 42 (2) S (3) RwER (4) =fa=w
Toranmal Hill station is in which of the following district ?
(1) Dhule (2) Jalgaon (3} Nandurbar (4) Nasik

THeedT SIS W / SPACE FOR ROUGH WORK



A 33 Z09

87. WO vl ey snftn o ga=t fawmr s o1 ?

(a) BT - =R

(b) THUEH! - AR
(c) i - "D
(d) =R - Ee
gt IuY

(1) (@), (b) F (d) IR T

(2) (@), (b) T (o) TR A

(3)  (a) 30T () T 3T

(4)  (b) 30t (d) SR STRA

Which of the following pair of districts and hill station is/are correct ?
(a) Thane - Jawhar
(b) Amravati - Toranmal
(c) Aurangabad - Mhaismal
(d) Kothapur - Amboli

Answer options :

(1) (a), (b) and (d) are correct
(2) (a), (b) and (c) are correct
(3) (a) and (c) are correct

(4) (b) and (d) are correct

88. WG HIVE FRHHS wF =t il @9 ?

(1) & (2) fewed (3) T (4) W PR
Which of the following agent of erosion form Cirque ?
(1) River (2) Glacier (3) Wind (4) Sea waves

89. I T9E DGS (steel) FfHTE Grciatst Fvmr yig arer s ?

(1) eTge (2) (3) i @) &
Which of the following mineral is used to produce high quality steel ?
(1) Bauxite (2) Manganese (3) Copper 4) Gold

HoAT WA AT /SPACE FOR ROUGH WORK
PITCOO
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90, TirEW o :
w1 W - 11
(we) (wmt)
(a) A () FrEETR-TERR
(b) (i) wUE-fougm
(c) amaEh (i) IR
(d) FwH (iv) WETEE-dST
i I
@ (b (¢ (d)
(1) (v) @) @) ()
2 @ @) @) @)
(3) @) @@ @) @
(4) @) (@ (@v) @)
Match the following :
Column - 1 Column - II
(Ghats) (Rout)

(a) Khabatki (i) Kolhapur-Ratnagiri
(b) Amba (i) Karhad - Chiplun
(c) Amboli (iii) Pune-Satara

(d) Kumbharli (

Answer options :

iv) Sawantwadi - Belgaum

@ () (o) (d)
(1) Gv) @) (@) (@
@ O @ @) (i
@) @ @ () @
4) @) @ (v) (1)

91, TERIEN WIHGUH! HIU T8 Yhivia Tefawes fHem FEET g Foan o1 ?
(1) 1953 (2) 1963 (3) 1973 4) 1983

In which of the following year Comprehensive Watershed Development Programme started
in Maharashtra ?

(1) 1953 (2) 1963 (3) 1973 (4) 1983

ol HIATEE WU /SPACE FOR ROUGH WORK
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92. HERIY® HIhUrea LK USR] UradrEat! v faum sty ag ?
(a) RO Sy T ST T IS
(b) U Wiy A T,
(c) THIHG TEd & ATTH THY TS,

(d) THERUIT Ed THT IS

gt 39y ;
(1) T (a) TR (2) HEd (b) T
(3) W () AT (d) R (4) T (a) 3T () FH

Which of the following statement regarding type of rainfall Maharashtra Konkan region
is correct ?

(a) Konkan gets Orographic and Convectional rain

() Konkan gets Orographic rain

(¢) Konkan gets Cyclonic and Convectional rain

(d) Konkan gets Cyclonic rain

Answer options :

(1) Only (a) is correct (2) Only (b) is correct

(3) Only (c) and (d) is correct (4) Only (a) and (d) is correct

FHAT HAEBE AT /SPACE FOR ROUGH WORK
P.T.O.
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93, WISW o

(a) fFrad wiww (i)
(b) faT G- SEFERR 18R (ii)

(d) W= @R (iv)

b) () (d)
1 .

(1)
(2) V) 0 ()
@) O @ @
@ @ O @ @
Match the following :
Column - I

(Agro regions)
(a) Coastal Konkan (i)
(b) Bhima basin-Usmanabad Plateau (ii)
(c) Krishna basin (iii)

Tapi basin (iv)

c

Answer options :

@@ () (o (d)

1) @ @) (@ @

(@) @) (@) O @
¢ O @ @ (v
4) () @ @) ()

w4 - 11
(vE firdh)
HqE a Jofaa
I F qUHITTH
Hd 9 RS
Tt § dte

Column - II

(Major crops)
Cotton and Oilseeds
Sugarcane and dairy
Rice and coconut

Bajra and oilseeds

FoAT HMEE 9 /SPACE FOR ROUGH WORK
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94, WW@WW'WMWMWWW%?

()
(b)
(c)
(d)

LLasdie eafRu el D

5,000 YN ST SFHHeH!

50 29 O faTR I T8N HI
SrpHE v S, e 400 Yan S

it I :

(1)

@, ®) AW (©) 2) O) W@ @) (@), @O)3A(E @ FHow

According to Census of India which of the following settlement is considered as Urban ?

(@)
(b}
(c)
(d)

If there is Corporation/Municipality.

Population above 5,000

50 percent population is working in non-agricultural activities
Density of population more than 400 persons per sq.km,

Answer options :

1)

@ Band () (2 () () and(d) () (a) (B)and(d) (4) All the above

95. WIHEYH! RV TGS FUET 3R ?

1)
2
3)
)

& — % — TEUT - 9y
TE — TET — WY - THOT
T — 3@ — J9 — O

AT - 99 - 3@ - a9

Which of the following Food Chain is correct 7

(1)
)
3)
4)

Grass — Grass hopper — Hawk — Snake
Grass hopper = Grass — Snake — Hawk
Grass — Grass hopper — Snake — Hawk
Hawk — Snake — Grass hopper — Grass

AT SHTHTETS AT /SPACE FOR ROUGH WORK

P.T.O.
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96.

38 A

WAetw! Fom faym/faum atey T ?

(a) TR I FHieaeIa FLE Tgga FAFTTER IR 86 374 @ Ta JITe AT 9
friwa s .

(b) ufeew enfvmm YgsRE gER 3 fmd, Ieie aRur Tyt 9w e ara 9ee
A TAHHE Bl

agidt 36 :
1) %= (@) (2) FE (b)
(3) (@) 0f () (4) oHIYR! TR A

Which of the following statement is/are correct ?

(a) The advancement and retreat of monsoon is dependent on the seasonal shifting of
the Intertropical Convergence Zone.

(b) The Westerly Jet streams blowing at an altitude of 3 k.m. from the surface in Western
Asia affect the monsoon,

Answer options :

(1) Only (a) (2)  Only (b)
(3) (a) and (b} (4) None of the above
97. WISGUH! TS FITRE A 7R 2

(a) IO ST AT @

(b) = Fefor o

(c) Tha FLaANIS SRRIAISd JaTHIT HFETT H0

(d) e Jodad &

Tt 6

1) @b (2 @A () FE() @) (@) (b) T ()
Which of the following is/are advantage of Agrow forestry ?
(a) To ensure better land use

(b} To generate employment

(¢) To manage agricultural land only with family members
(d) To conserve soil moisture

Answer options :
(1} (a) and (b} (2) (b)and () (3)  Only (c) (4) (), (byand (d)
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98, WA faw= gfaw, TEe wEHE JaeHiT TOw, Twiia w9 7 99 weRi wnl, w gatee
THERE TS REUTam.

1) S (2) oo & AR
(3) T T e (4) T T

The areas with advanced irrigation facilities, reclamation of waste land, intensification of
agriculture and demand for agricultural labourers attract rural people from backward
rural areas that are overpopulated and experiencing acute unemployment. Such migration

is known as type of migration.
(1) Urban to Urban (2) Rural to Rural
(3) Rural to Urban (4) Urban to Rural

99, Tagee sTist TSR HivE S wET oA ?
(a) wHiiEa Sreraw
(b) WO ST IuTR
(c) WUV A
d) e yamrEt e A

Whﬂ 3"?!‘( :
(1) (a) 30f0 (b) ST 2) (b) 3T () TR
(3) (a), (c) 2for (d) =R (4) (b) 2T (d) F=T

Which of the following characteristics of the dispersed settlement is/are correct ?
(a) Limited population

{(b) Availability of Social Services

(c) Pollution free environment

(d) No daily Commuting

Answer options :

(1) (a) and (b) correct (2) (b) and (c) correct

(3) (a), (c) and (d) correct (4) (b) and (d) correct

FHoAT HMTHES 9T /SPACE FOR ROUGH WORK
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100. TSSYH FIvw fHuM ST 3T ?
(a) TRRIPR wad wa fafedi=t s=9ar 9T 3§ et facem oA, §aid FH TEar S

v & QR fawrT .

(b) RN dod Jefdeard TN 15% 379+ faguidte agds feam aommen arrear
60 TFF O YTEST FHeA e,

Qi I

(1) ™ (a) (2) W (b)

(3) (a) 370 (b) () aotwt RIS A,

Which of the following statements is/are correct ?

(a) The highest density of wells in Maharashtra is in the districts of Sangli and Solapur,
while the least density is found in the Konkan and Nagpur divisions.

(b) The percentage of Tank irrigation in Maharashtra is 15% and the water supply in
most of Vidarbha districts from tanks is 60%.

Answer options :
(1) Only (a) (2) Only (b)
(3) (a) and (b) (4) None the above

101, ¥ WG Fed TEH HIERY TF 91 SF Teas T3V e (AR e Te 3w
AT, WO I HRU § GEIS!T SUET 31E ?

(a) UISH BSH JUR T FiCAGT A= aRar FEta T g
(b) SR VRAT WA SrOMET T,

i A
(1) ™ (a) (2) T (b)
(3) (@db)T=R (4) I v A,

The break of 1 or 2 weeks during the monsoon season is called as ‘Monsoon Break’. Which
of the following is the correct reason for it ?

(a) Failure in the development of Tropical Cyclones. Which bring rain
(b) The location of the monsoon trough in North India.

Answer options :

(1) (2) only 2) (b) only

(3) Both (a) and (b) (4) None of the above
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102, FEIATS WSGIHT FHIved) Foe@m Fafa FHHt Ages 0 ?

(1) feugd (2) TS @3 YU (4) ¥EEER

Which of the following district has the lowest number of talukas in Maharashtra ?

(1) Sindhudurg (2) Raigad (3) Dhule (4) Nandurbar

103. Oftvdn sE@ Tete S faum™ et 3 ?
(a) RN @ e 7 i TateROTe S T,
(by i o fufte & = FQ.
() ¥R st e vE e o,
(d) v wof, s, ot ¥ IR W@ W oA
it 36t
(1) R () (d) T 3R () FH (a), () T (d) T e
(3) W (b), (c) T (d) T MEA (4) TE W D
Which of the following are correct about Eco system ?
(a) AnEco system represents the sum of all living organisms and physical environment.
(b) Eco system occupies certain well defined area on the earth.
{c) Solar energy is the most significant source of energy.
(d) Three basic components of eco system include, energy, biotic and abiotic.
Answer options :
(1) Only (c) and (d) are correct (2) Only (a), (c) and (d) are correct

(3) Only (b), (c) and (d) are correct (4) All are correct

oAl FHHEE AT /SPACE FOR ROUGH WORK
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104, STl O ;
|- w|H-11
(=) ( &oOY)
(a) rEvTEd @ e
(b) WM (i) =R
(c) AR (i) TS
(@) = (v) IFS
gqaidt 3

@ (b) () (d
(1) @@ @) @) @
(2) @ @) @ @)
(3) @) @ @ ()
(@) O Gv) (@ (i)
Match the following :

Column - | Column -~ II
(Rivers) (Dams)
(a) Arunavati () Purmepada
(b) Kan (i) Karvand
(c) Kanoli (i) Malangao
(d) Bori (iv) Borkund

Answer options :

@@ B © (@
(1) G @@ @) @
(@) @ @@ @ @)
(3) @) (@) @ @)
4 (@ @) @) (i

HoAT HIHWAE AW /SPACE FOR ROUGH WORK
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105. Sirsm @&
WY -1 Y- 11
(v &) (wwr)
(a) @A (i) & S
vy fateRr (i) SHfewrf
(c) =i (iif) IfW-gE IAffeEm
(d) fow v (iv) 3. SR
‘ﬂ'ﬂ‘fﬁ'ﬁ:

(@ (b) () (d)
1) Gvy @@ @ (i)
@ G @v) @) i)
(3 () @) @) (v
(4) () @) (v) (i)
Match the following :

Column - I Column - II
(Local Wind) (Region)
(a) Santa Ana (i) S. Africa
(b) Sirocca (ify California
(c) Berg (i) S.E. Australia
(d) Brick fielder (iv) N. Africa

Answer options :

@ (b) () (d)

() Gv) (@@ @ ()
(2) () Gv) (@) (i
(3) @ @) @) ({v)
4) @) @ @Gv) @
106. 19 TR HiZL I Yoq TSR TSR a9HH SR 30° ¥, S8 W S e’ aaa fEa
IS ?
(1) 15°C (2) -—-10.5°C (3) 10.5°C @) -15°C

A mountain is 3,000 m high. If the temperature at its bottom is 30°C, what will be
temperature at its top ?

(1) 15°C 2) —10.5°C (3) 10.5°C 4 -—15°C

Tl THIHTEIS AT /SPACE FOR ROUGH WORK
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107. TSI HERIgS M fSogien Te Y= SurEe e G | W F garEe
forvmma Bt ?
(a) STEHETR, HeTg, |ie!
(b) SEHEAR, WEw, TEfeRet

(c) TR, FIRIR, TS

(d) T, §E,

it 39T

1) (@3 b (2) (B)F() (3) T (a) (4) % (d)

Major Part of which of the following districts fall in the group of drought prone Rabi and
Kharif crop agro-climatic region of Maharashtra ?

(a) Ahemadnagar, Solapur, Sangli

(b) Ahemadnagar, Bhandara, Gadchiroli

(c) Solapur, Kolhapur, Sangli

(d) Amravati, Beed, Akola

Answer options :
(1) (@) and (b} (2) (b) and (9) (3)  Only () (4)  Omly (d)

108, GoreUE! S faumEr TR s gEafiaite (E1A) |6t SHTE9 @ ?
() TrifSa Tewrerst sfroasmant greqemd vafero sftefidier srem =0
(b) TR TR ER S
(c) sTafted wfage gitommismas wfures.
(d) TREEE TE-THAATY TEIHe HO.

Wf'ﬂ"f?ﬁﬁ‘:
(1) T (a), (<), (d) (2) (b}, (), (d)
(3) W (a), (b), (0) 4) =ie

Which of the following statements must be included in EIA (Environment Impact
Assessment) ?

(a) Presentation of Environment conditions before the project plan implementation.
{(b) Presentation of alternative projects.

(c) Statements on unavoidable adverse effects.

(d) Evaluation of cost-benefit to the society.

Answer options :

(1) Only (a), (), (d) (2)  Only (b), (0) (d)

(3) Only (a), (b), (c) (4) All the above
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109. FEUEHAS GASTR! Hoed Fooard] Spaeidl T9a1 e IRd R, &1 800 & FIR 3718 ?

1y ™ 2) FEL 3) o

(#) TR

Which of the following district in Maharashtra has density of population above 800 persons

per square km, ?

(1) Pune (2) Kolhapur (3) Thane (4) Nagpur
110, SIS &
@Y -1 WY -1
( watarur fafit wemeET) (=d)
(a) TSRl IO AR @ 1998
(b) AT S ISR G 9t (i) 1986
() fa® F=u A (i) 1999
(d) TR AIREEE WEEY IAT 9 AR fram (iv) 1991

it Y

(@ () (o (d)
O O @ @) @
@ Gv @ () @)
@) @ @ O @i
(4 @ v @) @
Match the following :

Column - I

(Environment Legislations)
(a) Environment Protection Act
(b) Scheme of Labelh'ng Environment Friendly Products
{c} Biomedical Waste Management
(d) Recycled Plastics Manufacture and, Usage Rules
Answer options :

@ () () (d
) @ (@) (@) (i)
) Gv) () () (i)
@) (@ v @ i
) () (iv) () ()

Column - I1
(Year)
i) 1998
i) 1986
iii) 1999
) 1991

oAl HWHEET AT /SPACE FOR ROUGH WORK
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111. TGS HUE HOES TRGE SFEES TEE ool Fe JUHA A@Ee Il ?
(1) 1901 - 1921 (2) 1921 - 1951 (3) 1951 - 1981 (4) 1981 - 2011
Which of the following period is known as the period of stagnant population of India ?
(1) 1901 - 1921 (2) 1921 - 1951 (3) 1951 - 1981 (4) 1981 - 2011

112, i@ oa
WY -1 w11
( wataror fafirarasr) (ad)
(a) FEMITSEHR T Feq e 4| (i) 1988
(b) TEF T €W () 2002
() Safafayar FEe (i) 2000
(d) vEfER (TE) FEa (iv) 1986
g I

@ (b (9 (d)
(1) (v) @) @ @)
(2) @) @ G @)
® @ @ @
@ @ @) @ @
Match the following :

(=)

Column - | Column - II
(Environment Legislations) (Year)
(a) The Municipal Solid Waste Management Rules (i) 1988
(b) National Forest Policy () 2002
(c) Biological diversity Act (iii) 2000
(d) Environment (Protection) Act (iv) 1986

Answer options :
(a) (b) () (d)
) @) @) @ @
) @) @ @ )
@) @) @ @ @)
) @) (v) @) @
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113. GEeis) F Taegri= Hig T 951 SR AT & FSa TeoA1 F¥l g favrma 3d! 2
(a) I, FITEE, R
(b) EIRI, BB, T
() TIER, Y, 2=
(d) I3, ¥z, oI
qaidt I
(1) (a) 3T (b) (2) (b} 3T (<) (@) wH(b) @) (a), (b} 3TfOT(d)
Which of the following districts some part fall in the group of Rain shadow black and
gray soil agro-climatic region ?
(a) Satara, Kolhapur, Solapur
(b) Satara, Kolhapur, Pune
{c) Kolhapur, Dhule, Jalgav
(d) Beed, Dhule, Buldhana
Answer options :

(1} (a)and (b} (2) (v and (c) (3)  Only (b) (4} (a). (b) and (d)
114. WEGUT! T TPE TEMTITOR o8 TS A8 ?

(1) NH1 (2) NH3 (3) NH?7 (4) NH10

Dhule is located on the which of the following National Highway ?

(1) NHI1 (2) NH3 (3) NH7? (4) NH10

115. TOEYS FIOR TOYE ¥ Wit ste s ?
(a) T YeEIER W, RE § AY W1 AE W e,
(b) o e §d e faRemsfavaTt & qva .
(c) T TQGA STUATHl &R UIUAT STEA.
(d) e e P Joasas SRR goaE 7ed B,

giEt I
(1) W (a) WU (b) (2) e (b) AW (c)
(3) W (b), (c) T (d) (4) wie 94

Which of the following properties of water are correct ?

(a} Water is found in all three forms solid, liquid and gasaus on the earth.
(b} It has ability to dissolve in almost all substances.

(c) It has the ability to store heat.

(d) It helps in the circulation of elements in the Biosphere.

Answer options :

(1) Only (a) and (b) (2) Only (b) and (¢)

(3) Only (b), (c) and (d) (4)  All the above

HEAT HWES TFT /SPACE FOR ROUGH WORK
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116. SIfTen Fram SHaeaTTEF gEHie! SIS €% 9w i u5a (h = uF) & TR
forwfam & o
(1) ¥IRIAAIT (2) STELHLIN AFTET .
(3) EHL.TIAR (4) STETLIR 4.
BBF is one of the most efficient land management practices evolved by
(1) CRIDA (2) ICRISAT
(3) ICAR (4) IARI
117. S SRR A qqEH q__ § A TAA I
1) 10 ¥ 16°8. ) 8d12. (3) 129169 (4) 97 12°8.
Optimum temperature for egg production are in the range of _______ °C to
e °C.
(1) 10 to 16°C (2) 8to12°C (3) 12to 16°C 4) 9to12°C
118, W=l U FHiufamn favas o demgr fFEBE @ 49, S wfEEn sar TH
B S
(1) =9 vem F (2) <M Yan ST
(@) wEaEE (4) wfedE FRE T
Agronomic measures can controlle soil erosion when the soil slope is percent.
{1) less than 2 (2) more than 2
(3) 6to10 {4) none of the above
119. 3% SfrdemE araret femm et Rt st ?
() 1A/ (2) 20fEH/Aam (3) 25 FRH/Am (@) 10 fEHE/9W
How much minimum wind speed is required for winnowing operation ?
(1) 15 km/hr (2) 20 km/hr {3) 25 km/hr (4) 10 km/hr
120. foren qUR =R fieom &9 € STdte: T WEEH STa (Aean) $a 9,

M R = 36(?3 3 @ m=13. /AT

(3) aaiz-sﬁ.q"/% @) ﬂ=@1><¢;l$'q.xaﬂ'q

The area covered by a rotating head sprinkler can be estimated from following formula :
) Ra= 360% A 2) R=135dh

(3) Q=CA2gh @ Q=32 xsirt;fl x 1

oAl THIATETS N / SPACE FOR ROUGH WORK
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121. THH TR UGS IR TGS TS wehiEr Te e
(1) IISH, a9, yroiena aqfer waaa
(2) D IS, AIHH, I S W
(3) =, amH, fimar enfn s wisE
(4) i, fofes, Sfam snfor gaw sita
Choose the correct group of abiotic components that helps in the formation of sail :
(1) Rain, Temperature, Fauna and Chemicals
(2) Acad rain, Temperature, Flora and Animals
(3) Rains, Temperature, Variation and acid rains
(4) Animals, insects, Bacteria and microorganism

122, fushren @@= FEET YO AETEE WU IR JE RS

(1) @ (4) 2 g
(3) it FAgEE (@) o= Tge
Total depth of water required for crop during its duration in field is :
(1) Delta (3) (2) Duty
(3) Moisture equivalent (4) Irrigation equivalent
123. 6.5 98T S WY (pH) SEw Poa T TRV
(1) Tt (2) TRy (3) Safaw (4 sowd
The soils with pH less than 6.5 are called as soils.
(1) Acidic (2) Alkaline (3) Neutral (4) Al of these

124. ¥ FICYE GUTHINL ITd wITed Fedld Uiy WEeHe) FH ST YER ded i

FFETE U,
(1) efesierza (2) Weheefem wrerErzE
(3) woclew HfesiwEey @) fashwrza
The plants which grows best in sunlight but can grow fairly well under shade are called
as . .
(1) Heliophytes (2) Facultative Sciophytes
(3) Facultative heliophytes (4) Sciophytes

THoAT HIATHTE AT /SPACE FOR ROUGH WORK
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125. STEHRE TRAS vl ST &HAT & e qol uaran TEdre o qun (e
i T

(1) 4-5 2) 3-4 (3) 6-7 (4) 5-6
In sandy soil water use efficiency is increased by times with sprinkler irrigation
compared to flood irrigation.
(1) 4-5 2y 3-4 (3) 6-7 (4) 5-6
126. 100 ¥ 300 9.+, AFRA e WRed™, AHAT JEIRTIRET STEH S0 qruit
Hrgaa 4.
(1) 10 =5 (2) 20T (3) 30TFh (4) 40F*
Farm ponds of size 100 to 300 m3 may be dug to store of runoff.

(1) 10 percent (2) 20 percent (3) 30 percent (4) 40 percent

127. TN A0 Y THRREISHOTST 3 FE 99T (FaE TS IEiEeEeT $EH ST @l $

ST ?
(1) war faig ) W Gveny fag
(3) wmIfag (4) vy fig

Light intensity at which the rate of photosynthesis is just equal to meet respiration
requirements is called as :

(1) Compensation point (2) Photosynthesis point

(3) Light point (4) Saturation point
128. i Ieares St arof STReTEAT ¥ weRT _ TN I AT

(1) =3 g e e (2) 44 derEt S

(3) WHNIR @ 4) wowd

The highest yield and water use efficiency is possible only through
(1) Levels of soil moisture regime (2) Optimum plant population
(3) Balanced fertilization (4) Al of the above

Fodl HWWE I /SPACE FOR ROUGH WORK
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129, GRS FaYMARE SRIET IO .

(a) Torwo AT it anfor g wrowE add e,
(b) feopor ArA=R ot uww e S oA

gt I ;
(1) (a) TR 3R )  (b) TS TR
(3) T (a) T (b) TS TR (4) HIURIE SO TR

Choose the correct answer from the following :

(@) Inclay soil water and air movement is restricted
(b) Water holding capacity of clay soil is high
Answer options :

(1) () is correct (2} (b} is correct
{3) Both (a) and (b) are corret (4) None is correct
130. v T Jufiw 5 fedmo R fes el o= o o
(1) SEArFEa (2) SfFTEE
(3) TSREER (4) wlei=t Tl .
The genera of blue green algae, that fixes atmospheric nitrogen in rice is :
(1) Cyanophyta (2) Anabaena
(3) Chlorophyta (4) None of the above
131. RGN UHW aifte gei=wmre frdt wiawa woft sfasis g ?
(1) 751 (2) 8.56 <FF (3) 9.52 T (4) 1.00 T
What is percent of the ground water recharge from the total amount of rainfall in India ?
(1) 7.51 percent (2) 8.56 perpercent (3) 9.52 percent (4) 1.00 percent
132. 27 oo el FIvR AT aReEE 91 2
(1) wEm Hieds (2) ER IR SATFEE
(3) Frer TMge @) fom=R smedE
Which chemical is used in cloud Seeding Technique ?
(1) Sodium oxide (2) Carbon dioxide
(3) Silver nitrate (4) Silver iodide
133. T=oR/ATTe fhre TR ST fre T3/ %= w9
(1) 25 (2) 43 (3) 34 (4) iRt T
Finger millet crop residues add kgN/ha in soil.
(1) 25 (2) 43 (3) 34 (4) None of these
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134. Si= aE™ 7 TCAH IED gy AT SR SRS (Y)Y
JAEA g,

(1) 1512079, (2) 207 30°9. (3) 181 24°9. (4) 2274309,

The maximum production of dry matter occures when the temperature ranges from

(1) 15 to 20°C (2) 20 to 30°C (3) 18 to 24°C 4) 22 to 30°C

135, gur fa=m vgat fodam: S sfaesa 9 &R ?

(1) e sH| A (2) Tomur A= ==
(3) ¥ wE @) S A
Sprinkler irrigation system is particularly suited for which soil ?
(1) Sandy soil (2) Clayey soil
(3) Organic soil (4) Siltsoil
136, IR TG THgE TUAHS Tl GEAoE ghmae 3T TEUTA.
(1) oo (2) = e
@) AR @) G
The microbial process in which ammonia is converted into Nitrate is known as
(1) Nitrification (2) Nitrogen fixation
(3) Ammonification (4) Mineralisation
137. HIEeE QT TEOTTA.

(1) =& A (2) wESt HE (3) et wHA (4) Sfgg A
Vertisols are commonly called as .
(1) Black soils (2) Red soils (3) Alluvial soils (4) Organic soils

138, FiHl @V TR TSUIFT STRgad TS R ¥ 37cTa W WgE o,
S 9ol ST T HRUE S,
(1) TESHRE ffds (2 wERw ofas
@) TS fas 4) whetE e T
acid waste from coal mines is a serious pollutant that increases the hardness
of water.
(1} HA (2) H,S0,
(3) HNO,4 (4) None of these
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139. w41 fewmit AEra (IfFa) geTesgen Ui fRaa T8 enfn A fawommE v e @
fawmh H (FH) IaREdS AT 321, 8 THENE FHI IaR SR gs=AE (800 A, dan

Wd) EifeE 4t Ry s i,
(1) TEUGs siyaree (2) @R
(3) TR Ty (4) T @R

are recommended on mildly slopx lands ie-lebs than 8 percent and high rainfall
(more than 800 mm) where soils are relatively impermeable and claxex nature.

(1) Contour bunding (2) Bench terraces
(3) Graded bunds (4) Graded trenches
140, SRR T, Gger § fasmvmmdren ANy shaiy UM

(1) <= 9= (2) SfHHT= 9E (3) feeren gfesgm (4) ARE S
Relative percentage of sand, silt and clay in a soil is known as .
(1) Soil structure  (2) Soil texture (3) Soil porocity (4) Soil density

141. 9VER &=t fam 77 AR SiieEr,
(1) g A ) e faves
(3) Tr=w faves (4) &= favrE
The boundaries of a watershed are known as a !
(1) Land divide (2) Irrigation divide
(3) Drainage divide (4) Area divide

142, OIS Freis T9Te Hoar HR O -
(1) T dreen S
(2) ot YR THEE B
(3) IFESHEE! HRed vyl aTHe
(4) e TR T .
Death of tree seedlings in forest is due to
(1) Reduced light intensities
(2) Injure by bright sun light
(3) Competition in roots for nutrients
(4) None of the above
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143. IWMI =S ;
(1) TP g™ STEedIT Tel

(1) International Weather Management Institute
(2) International Weed Management Institute
(3) International Water Management Institute
{4) International Wildlife Management Institutes

144. WIRATE Ja1 SUROT VYA GO 1923 W _ A9 A I AR T EA
EIc
(1) =i, If (Femg) (2) WRETE (Feiie)
(3) T (Y W) (4) VIR (ITEs)

Soil Conservation Research in India started as early as 1923 with the establishment of Dry
farming scheme of .

(1) Manjari, Pune (Maharashtra) (2) Dharwad (Karnataka)

(3) Guntoor {Andhra Pradesh) (4) Pantnager (Uttarakhand)
145. 999 s 1972 99 3RS FSA THW YIVde ol Foe __®am
(1)  40.00 TTY FaRT HH (2) 67.00 ST ‘ERR HIKX
(3) 45.00 TEW FERT HIX (4) 65.00 TV THRY HIH
The irrigation commission (1972) estimated total amount of regenerated ground water
flow of . :
(1) 40.00 M. ha m. (2) 67.00 M. ham.
(3} 45.00 M. ha m. (4) 65.00 M. ha m.

146. 39 T TRIw qUTSIE! ATeeAl FOGRAS! Frer STHT Tl ?
(1) st et (2) TSR Sew (frgm)
(3) TImESE ufen (fgaut o) @) Tasm = sEsps #fin (feaoft semss)
Which is used to separate thermal and non-thermal wavelengths ?
(1) Wavelength filter (2) Prism
(3) Dichroic grating (4) Prism and dichroic grating
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147. Goe YRt o T2 T T FEYE A ?

(1) St (2 Shamus (3) AAATHRTFE. (4) .TETENL
Which of the following data is not Raster data format ?
(1) .BMP (2) GIF (3) .TIFF (4) SHP

148. Tagd g Soima gvaEE qoTest & et Hior TR ?

(1) 04 pm¥ 0.7 pm (2) 3A303 pm

(3) 03pumA03cm (4) 3cmT3km

Which is the visible wavelength region of Electromagnetic Spectrum ?
(1) 0.4 pmto 0.7 pm 2) 3Ato03pm

(3) 03umto 03 cm (4) 3cmto3 km

149. IV IREY FREIEE 2E ¥ ITT S wWe ?

(1) 27 SrEr 2017 (2) 2331 2017

(3) 15 FEAR 2017 (4) 14 T 2017
On which date satellite Cartosat 2E have been launched ?
(1) 27t January 2017 (2) 23" June 2017
(3) 15t February 2017 (4) 14%h April 2017

150. UI¥E WSHIET TV Tt Ufiony @ Fedt SHamed BT Seine SWe HehH T
TEF T FAHT BENE Hrowa Ay sgoe fowaw ?
(1) omEfaETe v g 9@ (2) wEwH=
(3) ST TR (4) orEtasT 9

How hydrothermal alteration of rocks appear in aerial photographs due to bleaching
effect on wall rock and differences in vegetation density ?

(1) Photographic tone and texture (2) Colour of rocks
(3) Photographic tone (4) Photographic texture

-00o0-
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@® wyiEsEa fafeq o fafe wria +=5 =@ (1% 99) +E. TEyfEFaiEs saetaEra =@
TH FIEE F FH FT0E § HY HOFA TIH S @, 3F TS VRS 3 AIR IR
WEAR R Foe  alieimed g fRvswri wfeey FReamETs sifufrm-g2 ' i RgEqaR FRaR
HGE 45 9 TIU R S U aui= SREEe it/ 6 S0 uw R e S (e
A 2,

(9) T TR e fafed FSH Ao HueHER SIS € TRAYREET T aat e
U AV WA SR, W UOMTRTATEY WIUhgET SHM Ut SOvuiAc T M- 1
THARFTHS T fHEE T &) Tavde

¥ HHE

T. . 201.

AT A9
201, WAHE 90 T&€ FOGHEG! FHIO TS TTH FS 2
() @ AR S @ IvesEs fammarr
() T THRERA T @) T MES

W W I (3) U THAR W G T, e @ TN W (3) e uE
TIOHERATI Y7 . 201 TS IN-H ' (3) " ¢ Tge TN B FEA qrafan avas
e,

ONON NO)

I TS TR TEYEddis TH WA qHE SAGRHIS g TR Eaaden qEcen

SHUTFEIE o N TERHHEEe d6iyd agw quivt Imifed w1 raaE.  gnesiar
e WTeaT VTS SieaT T, ifae o sids 99 9new 99
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